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This booklet is your Question Paper DD_-:H".';T break
spal of Booklet until the invigilator instructs to do so
Fill your NAME, DISTRICT and BLOCK in the space
provided on the top of this page.

The Answer Sheet 15 provided to you separately which
is 3 machine readable Optical Response Sheet (ORS),
You have to mark your answers in the ORS by
darkening bubble, as per your answer choice, by using
black & blue ball point pen.

Total Questions ta be Attempted 50.

This paper contains 50 questions. Please check your

paper, before attempting

Marking Scheme :

a If darkened bubble is RIGHT answer : 4 Marks.

b. If no bubble is darkened in any questions: No Mark.

c. If darkened bubble is WRONG answer: -1 Mark
(Minus One Mark).

Think wisely before darkening bubble as there is

negative marking for wrong answer.
If you are found involved in cheating or disturbing

others then your ORS will be cancelled.

. Do not put any stain on ORS and hand it over back

properly to the invigilator.
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A copper wire, when bent in the form of a square, encloses an arca of 48dem?, If the same wire
is bent in the form of a circle, the radius of the circle will be.

U ATk & T 6 ST v A w3 wvgr e b, @ 3w e 484 0 vard AR s ar s
& T S R, & oY e g

(A) 10 em @4 cm (C) 15 ecm 619721 cm 6

IfTA:B- 2:3B:C=4:5andC:D=6:7thenA:B:C:Dis?
WAMB-2:hn:c-g:59CD-6:7 A AB:CiD W

(A)16:22:30:35 WZ-‘I:ISJS @6:24:30:35 (D) 18:24:30:35

A car travels the first 1/3 of a certain distance with a speed of 10 km/h, the next one third

distance with a speed of 20 km/h and last 1/3 distance with a speed of 60 km/h. The average
speed of the car for the whole journey is

TF W wF ftaa & TEX 1/3 wmr vy 10 Redfveer € Ry |, 3oreh o fyerd i Y 20
ftﬁ-ﬁa?ﬂﬁr# HIRT 1/3 g8 FY 60 Realveer i afey & 7 et ¥ gl g A B Y
Iraafat:

@8 km/h (B) 24 km/h (cyzn’mm@ 36 km/h
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4. The rates of simple interest in tw8 fianks A and B arc in the ratio 5:4. A person wants to de;;Oﬂl
his total savings in two banks in such a way that he received equal half yearly interest from,

both. He should deposit the saving in banks A and B in the ratio. .
2 A A 3R B ¥ AT TS Ay 2 5:4 % areqar o §1 v wafa o p awd H

¥ R ST AT T R 39 2l @ e s samer aree g1 39 4% A 3B A T
HT T A AT FIAT AR | : _

(A) 5:2 2:5 @:s

5. Ifthe perimeter of an isosceles right triangle is 2P, then its area is?

T v wHE ATy AT Bger w1 afi@ne 2P ¥, & 36w A §? :

J
. - 2 Y 4
N (2+V2)P? - M v2)Pz () @ 3 — 2v2)P?

-
1

”8hanika is making cookies.
Her recipe calls for 1 cup of sugar for 1.5 dozen cookies. Shanika wants to make 6 doz

cookies. How many cups of sugar will she need?

T YT T @ R
e YR 3 1.5 oot gefer & TR L el it e et §1 T 6 gt S e

argelt #1 3 Pt 9 i A araeTaar g
_ ~

@?{ups (B) 7 cups Y




¥ A used-car dealer needed to sell a car. He priced it at Rs 4500 the first dﬂ}' it W:ﬂS on IIIF 1(3}1
The second d“}- he reduced the pricc h}’ 5%. What was the pl"i{.'c of the car after this reduction’

T R T ST ) FR AT A e R I OEe R ) e 4500 39 Tl ot g e
IHA BT A 5% N FA A 5w FA & % FR A Feva w1 dn

(A) 3700 ((5)4/27\5 \_40 (C)4900 (D) 5400

8. 1 On his mathematics test, Carlos had 20 correct out of 25 problems. /
Which of the following is NOT another way of expressing 20 out of 25? D
<o HUA A0 Y g A, FEE A 25 F ¥ 20 AT w |
@ frmfRa A a s 25 ¥ 20 Fregaa s &1 gu alsT 761 &

3
5 (A) 45 (B) 0.80 (C) 80% (@44-\@

9. When Ryan lifts weights for his first set, he lifts 15 pounds less than half of the maximum

weight he can lift. This is represented by the equation below, where m represents the maximum
weight Ryan can hift, and /represents the weigh: of his first set. /= 1/2m -13

If the weight of Ryan’'s first set is 133 pounds, v hat 1s the maximum weight he can lift?

Fa T 39 98 VT & fAC 61 361ar 8. @ €0 WA CaR1 3510 T T a8 FFarn asqa &
Fa & ft FA 15 1335 Iomar §1 g AR R v FHEEor a0 SR T4 L SE m W@ ant

m?mmmmmmﬁmma.m}mmm*mmmﬁ
Fdrel /= 1.2m-15

qfE [ & 9o A HTaa+ 135 93z & o 8 3 Faw fraar aoi 3ot aaar i

(A) 52.5 pounds Mﬁ[} pounds (C) 283.0 pounds @OO*U pounds
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WY vt storm
slane is trying to avoid a stor
hen the pilot sees he has not
and finally another 2,500

—

0
_10-A plance is flying A altitude of 27,000 feer. The pilot of the |
and increases the plane’s altitude by ascending 3,500 feet. W
ascended far enough to avoid the storm, he ascends another 5,000 feet
feet. What is the plane’s new altitude?

U AW 27,000 AT Y A WIT W@ & ﬁ'ﬁmmrtrmazﬁgm#maﬁraﬁﬁmmm?&m
3.500 YT TaHT AT A F97E a7 G § T TRAT ATATE aﬁmﬂmtﬁvmq
Hﬁaz_r%.a'fagwaihﬁ.{mnﬁzsﬂtamﬁwmz.ﬁnuﬁzﬂm%lﬁma?ra‘g:ﬁn?m
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1,000 feet (B) 16,000 feet (C) 23,000 fect ) 8,000 feet /

11. James has a rectangular office that measures 6 feet by 10 feet. He will be moving to an office
that is 2 feet longer and 2 feet wider thar previous one. How much more arca will James have
in his new office?

S 1 TF HIATHR FIATTd § BRrewT 719 6 Hre 7pom 10 Az ¥ | 7§ T O FTET A S S
Rroe T 1 e 31 2 e @ 3iv 2 e ater 1 S & T Jre e ardferd 7 R st

&7 g
36 sqm (C) 60 squarc feet (unarc feet «

square feet
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Audrey's parents gave her Rs § to play video games at the mall. Each game costs a quarter to

lay. Which choice is NOT a correct method for determining the total number of games she
can play?

ﬁtm-ﬁm#ﬁﬂh#mmm_ﬁ?ﬁﬂ' 5 399 BT v AF A F @4 & A v
dtard wd grn ¥ 3wd R a) S AT At f e Ee i s@ § fe s Ree
T Tt b

msﬁke the number of Rs she has and divide it by 1/4

(B) Take the number of Rs she has and multiply it by 4.

) Take the number of Rs she has and divide it by 0.25.
)lake the number of Rs she has and multiply it by 0.25. \/

13.  Sara’s income is 25% more than that of Anil. By what percent Anil’s income is less than that of
Sama?

ﬂﬁmmﬁwﬁmazs%mtl e B 3T ART A 37 A g wia sa
\@L - (B) 24 (€)22.5 @ﬁo

14. A sum of noney amounts to Rs. 5200 in 5 years and to Rs. 5680 in 7 years at simple interest.
The rate™of interest per annum is:

o AT afr FUReTSS R 5 awt A 5200 3R 7wt A 5680 gt suh ¥ v b s ax B
(A) 3% (B) 4% ﬁ;)é %
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@!l‘x - % =4, then (x + %) is equ::l to:

TRy —1= 8,7 (x + 1) T
(A) 5V2 Oy, (D) 4V5

(/16. A radio is sold for Rs. 990 at a profit of 10%. What would have been the actual profit or loss on
it, had it been sold for Rs. 890?
o YT 990 TIX F 10% & @I W 491 1T ¢ 3 QX ATETAE AN AT gifer 74T g, I E

890 T # AT AT
@s. 10 loss (B)Rs. 10 profit 90 loss (D) Rs. 90 profit

If the difference between the simple and compound interests on a sum of money for 2 years at
4% per annum is Rs. 80, the sum is:

uﬁ:ﬁrdtmfﬂtruaﬂ:ﬁu%qﬁaﬁaﬁmﬂmaﬁwmﬁrm#ﬂvwmt
80 &, werfr :

(A) Rs. 5000 (B) Rs. 50000 (C) Rs. 10000 (D)ﬁ 1000 .40
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urchased 11 articles for Rs. 10 and sold all the articles at the rate of 10 for

Al a4 # &7 &, & an wiawa

18, I 1T would have p
Rs. 11, the profit percent would have beer.

o 3 10 T || v adaar § aur 10 3y &1 2T
S !

0 (']n N () 1K/ (D) 1009
(A) 10% (B3-11% g - [I?D ()

- f . i ;
19. Diagonals of a thombus are 18¢m and’ 24cm respectively. Which of the following 1s s

perimeter?

& TR & Rt waer: 18 27 31 24 W0 E| PreRRa A A s sah R

(A) 44 cm (B) 56 cm 61,9:0 cm d@ cm

20_2A sum of money doubles itself in 4 years at compound intercst. It will amount to 8 times of
itsell at the same rate of interest in? =

o TR THIE Y ST W 4 et 3 3TaeY 3 g @ ST &1 U TSt F1 FAA & WD F 8
AT EI? e S

(A) I8 ycars @ 12 years Mycars ( 4 years
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21, If 27271 = (243)3, then the value of *x' is:
afe 272%-1 = (243)3, @r X' WA ¥
{\M/?‘@ (B) 6 (C)7 (D)9

22.  The cost price of 36 books is equal to the selling price of 30 books. The gain percent is?

36 Q! 1 T e 30 TEaH ¥ R (e & s bl anrwfna &

@0% Byor% r@aﬁf (D) 822 %

Q_%fuhgmls of a rectangle ABCD meet at O. If AC= 14cm, then BO is equal to?
WWABCD&:WOWMFM&AC 14cm, ¥ Ay BO TR &7 /" o €
9 -
(A) 6 cm (BY7/¢:m \%D (C)8cm (ﬁflél cm
24, The rational number — E lies between the consecutive integers N p

ofA F&Ar -18/5 maqymanfmmatl

%d 3 3 and -4 d -5 (D) -5 and -6
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25\ The HCF of two numbers obtained in three steps of division is 7 and the first 3 quotient are 2, 4
and 6 respectively. The numbers are?

orrar ¥ efter ot # s &) st wr HCF 7 & 3R 9wt 3 smreet srwr: 2, 4 3 6 &) s §

(A) 189, 392 @5. 392 (C) 168, 385 @one of these

26. 1f the number 2345p60q is exactly divisible by 3 and 5 then maximum value of p+q is?
T F&AT 2345p60q, 3 3 5 A yoia: AEA ¥ & prq F1 FAAFTHA AW L

3 (B) 10 (©) 11 e@’i

27. \\vertical tower PQ subtends equal angle of 30° at each of the two places A and B, 60 meter
part on the ground. If AB subtends an angle of 60° at P (the foot of the tower) then the height

f the tower is
o St #AR PQ St W 60 Hex Ay gt T Rua A 3R B 21 ¥um # ¥ vl 9w 30° #°
T FYor 3iaia #4t §1 I AB, P (@IE &1 91E) W 60° FTHOT Ta1aT &, Sy A frSark

V3 meter Wmewrw 60v/3 meter (&) 60 meter

Internal bisectors of angles £B and £C of a triangle ABC meet at O. If ZBAC = 80°, then the _
-alue of ZBOC is

ABC & 101 £B 3R "£C" & Fiafi® waefan=® O W Aaa 1 Ik "4BAC" = 80° }, a‘r

oc" #TATT ¥ 7
@m (B) 140° (©) 110° ' @w

i
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Mt_wo interior angles on the same side of a transversal intersecting two parallel lines are in the
. tio 2:3, then the smaller of two angles is?

T & AT Yt # fredE X ATl v vk Y & v § AT & Q) Jars FT g &
e A &, A QY Fol F A BT FIOTE? \lql

(A) 72° (B) 108° (C) 54° (OY6° - 4
%

and Y. When X is divided by 237, the remainder is 192.

30. There are two positive integers X
mainder is 108. The remainder when

When Y is divided by 117, the quotient is same but the re
the sum of X and Y is divided by 118 is?
X it Y & @ X #Y 237 ¥ Riera 4 s ¢, @ 192 g1 ST Y F

2 gaATHE IE _
117#ﬁwﬂﬂﬁmmtmmﬂmmmtaﬁmeﬁm1osa1m%|mxmva:m
F 118 & Rwfora Rrarsar g, @ AEH B 2‘31'
(A) 58 MM@ (C)70 v 1A (D) cannot say

25 W

31. Sara deposited Rs. 29400 for 6 years at simple interest. She got Rs. 4200 as interest after 6

years. The annual rate of interest was?
AR 29400 92 ATYROT =TT T 6 aut & faT AT T 16 AT 1€ 4T & T A 39+ 4200
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4 8 /7 8 = 8
S d — 4 — 0L 4___0
221% (‘4&210% €3217 D)4z




34,

35.

9 3 )
a _ 2 b _ 4
If T and F T Jthenfa+hb) (h*¢)-
a_ 2 b
nﬁhmzm?-g.mh-hj'fh+tj=-’ o
(AV3. 4 (1345 (ICh5:9 ‘5/’3" 114\
L
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Which one of the following 1s the rational number lying berween P and 3 -

e i v v wRT dE R A o A Lyt

3 99 ﬁ;"” 7B
Al— e
(A3 'H’nz iz Jl?

If a and b are odd integers than which is true?

afxadkh Rew s A s A aa )

M-){* b is even ],(o (BYa+b=liseven (C)abiseven (Djab - 2 1seven
i
1"

A postman nding a bicyele al 15 km'h can reach a village in 4 hours If he 1s delayed by | bour
al the start, then in order tu reach hus destination 1 time, he should nde » vith a ~]:.,,d of;

wmﬁmlﬁﬁnfrmaﬁ‘mﬁr#—mﬁww utﬁmmm;mhma?ﬁﬂmt
frzfiFwart mmmmﬂmaﬁ@tﬁw T3 fraen 7f F FEd FT

(A) 20 km'h (r (B) 166 km'h (C) 4 kmh (D) 12kmh
. A
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The ratios ol 111'1[1]1} of two eylinders is 32 and the ratio of their radius is 6:7. What s the rmtio
of then cunved surface area?

ﬂmﬁm“’“’l‘"‘“v‘ﬂQJﬂTMﬁEmmmn.?hm:Fmﬁmn
y:jmamtr

97 - oy, .
(W) Y i L:(-) (1) 1:1 (C)7:9 (D) 7:4

17 Irmmen can do a work e days, then the number of days taken hy (m + n) men to do 1t 157

ﬂftmwmhm#rwﬁmmt,mtm + n)?“fmaﬂﬂﬂ'ﬁmmﬂ'fzﬂﬁ
FsaE! \\]x

Yoo e
m+n / Anaﬂt ' mr (m+n)r
A sk — L lltiiod
4 e E] mr (e @] n+n O
5 "t
] . '}

Bv\ﬂm lengths of the sides of a triangle are in the ratio 3-4:5 and its perimeter is 288 cm. The
hetght corresponding to the longest side is?

““}F*‘Wﬁmk-l:ﬁﬂmqm#taﬂrmqﬂmﬂzﬁs#:ntrmmgmt
qrasas

Vd
(A) 144 cm [ﬁ\(ﬂ.ﬁ ¢m (CH28.8 cmr&/ﬁ (D) None of these

19 The alutude of a right angle triangle is 4/3rd of its base. I[ the arca is 24 then perimeter of this
tnangle 1s?

U FREIOT P Y FUTS 3HE WU F 473 ¥l A A 24 tarsw A s eiEa 2

(A) 20 (B) 30 (C) 25 WD) f-l_(if)
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43.

1 1 1
IWathic=3 a® + h¥ +¢? =6, and ; + E + ;-—l where nb.c are all non-zero, then abc 14

1 1
yTatbte = 3, at + b2 4 ¢ =6, 31T = +H+%=I Wn.h.cﬂ'lﬂﬂ'{-l]?ﬂ'f.ﬂ'lahc!’

/ 2 3
[@ tTH; @- (D1

2

_ , : ; . . LY
The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%.
Then the value of x is?

20 Tt A A | TR R AET ¥ wAn b o amr 25% &, @ x e ¥

(&5 (B3) 18 @ 6 ltﬁ_‘pﬁ/

In AABC, if AD divides BC in the ratio m : n. then find the ratio of the areas of AABD &
AADC,

A ABC &, af% AD, BC &Y m : n & 3reara # Ranfra Ftar &, o &4 ABD HXAADC ¥ gFwat
T HA9Td A HfT

r
(Aym+mn (Bm:m+n (EYm:n [9 (D) m*:n?
L
1 n
If both x-3 & x - 3 ore factor of x* + gx + v, then

ﬂftx—l’l&ﬂ'{‘jh%ﬂ’m’fxa +qx + r FIEAET E, Al

—

.f‘l ."1
(A)r=] (Bhe=— (Cyr=-I D=3 ;({D

1
3
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Wa+b=10 &ab=06,thena® - ah 4 i 1N L7
FINa+b=10 SﬂTﬂf}‘:(),H‘qu—ub +b

2 —
(A) 106 B) 82 . r&@; (D) 6 ¢
\Wa ’ N

| 45,

‘ Evaluate (x +2y) 2x - 3y)atx =2,y =], ' 5
: (X +2y) 2x - 3Y) FT x =2,y = -1 WHSFHA HY ,»
(A) 28 ©)2 Gﬁ? A, v
%)

46. A student buys a pen for Rs. 80 & sells it for Rs. 50. Find his loss percent?
T BT 80 39X H UF FAH GhGAT§ aﬂ%g@rsomﬁ-’rﬁm%l e gy were T AT’

10
(A) 627 % 2=% (C)37-% 375/6

he numerateor of a fraction is 6 less than the denominator. If 3 is subtracted from the

2 -
merator, the fraction is equal to 3 Original fraction 15 equal to?

wfnwra:rahrﬁfrﬁmtluﬁﬁrﬁ#smm,mﬁwmg#mtmm A« =
T ¥?

o2t oy 13 013
(A5 ®r5; 11O ®) 3
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48. Find the arca of right angled triangle, whose smallest side is 14 cm (sides arc in integer form)

arrtor Aogar w1 et e AR, SO A Y s 14 A ¥ (TC QUIF FTH )

(Y, 336 cm? ('} (B) 350 cm? (C)322 cm? (D) 308 cm?
L/

- L]

49.°\5 men can complete a job in 8 days. How many days will it take if 12 men do the job?

FrEAt T WTH WY 8 H#wﬂﬁtl 12 Freelt 30 1 ) P Rt H H

(A) 5;. m' ;_.'a 6??) 3% (D) None of these

W/M'-v ol 1.1 11

50. Mr. Jain had ‘n’ chocolates. He distribuifgd them among 4 children in the ratio = 5 'g E If he
gave them each one a complete chocolate, the minimum no. of chocolates that he had?

1111

FECE R RN u’fﬂttﬁlmaﬁ4wn’f#5 E p gtm#mﬂmmﬁﬂfﬂ

vetw &) v qof wiwde &, o 3ad o areee ot ?

@ 39 @ Qs (D) None of these
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